Balancing Reactions Worksheet

Balance the following reactions and identify the type of reaction each represents.

1)  PbO,=> PbO + 0O,
2) Al+HCI=> AICI; + H;
3)  Fey(SO4); + Ba(OH), - BaSO, + Fe(OH);
4) Al + CuSO, 2> Aly(SO4); + Cu
5)  KClO3> KCI+0;
6) Mg+ N, 2> MgsN,
7)  FeCl; + NazgPO, =2 Fe3(PO,), + NaCl
8 HgO->Hg+O0;
9) CaSO,-2H,0 - CaSO, + H,0
10)  Bi(NOs)s + NaOH = Bi(OH); + NaNOs3
11) FeS+ HBr = FeBr; + H,S
12)  Zn(OH), + H,S04 = ZnSO, + H,0
13) P05+ H,O = H3PO,
14)  Cal; + H,SO4 > HI + CaSO,

15) Al +Cl, > AIC;
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Solutions

2Pb0O; < 2PbO + O,

2Al + 6HCI = 2AICI; + 3H,

Fe,(SO4); + 3Ba(OH), = 3BaSO, + 2Fe(OH);
2Al + 3CuSO4 > Alx(SO4)3 + 3Cu
2KCIO3 = 2KCI + 30,

3Mg + N3 = MgsN;

3FeCl; + 2NazPO4 = Fe3(PO4), + 6NaCl
2HgO - 2Hg + O,

CaS0O; - 2H,0 - CaS0, + 2H,0
Bi(NO3); + 3NaOH - Bi(OH);3 + 3NaNO;
FeS + 2HBr - FeBr; + H,S

Zn(OH), + H,S04 > ZnSO, + 2H,0
P,Os + 3H,0 = 2H3PO,

Cal; + H,SO4 > 2HI + CaSO4

2Al + 3Cl, = 2AIClI;
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